stran/nal. |razstavljanje
ST 7/ 8 Sa—5b=5(a—b)
ST 7/ 9 ab+ac = a(b+c)
$T 7/10 fax—tay =ta(x-y)
$T 7/ 11 02ab+3a=1ab+3a="'a(b+3)
ST 7/12 3a” +6ab =3a(a+2b)
ST 7/13 21xy—14xz="7x(3y -2z)
ST 7/14 24a® +8a” =8a*(3a+1)
8T 7/15 4a* -8d’ +12a* = 4a* (> —2a +3)
o e 33ab* - 22a°b" + 44a’b = 11ab(3b - 2ab* + 4a’ )=
=11abl4a> —2ab> +3b)
ST 7/17 X xm = (14 x)
ST 7/18 alx—1)-b(x-1)=(a—b)x-1)
ST 7/19 a(x+y)-blx+y)+(x+y)=(a—b+c* x+y)
8T 7/20 2a(1-2x)+1-2x = 2a(1-2x)+(1-2x) = (2a +1)1-2x)
8T 7/21 3x(a—b)-a+b=3x(a—b)-(a—b)=(a—b)3x-1)
- (j(; {))(/);(xi}—)y _2;; 2y =(x+y)a—y)-20x-y)
ST 7/23 a(l-x)-2b(x—1)=a(l - x)+2b(1- x) = (a +2b )1 - x)
ST 7/24 a—2-n(a-2) =(a-2)-nla-2) =(a—2)1-nla-2)]
8T 7/25 ax—bx+ay—by=(a—b)x+(a-b)y=(a-b)x—-y)
ST 7/26 x> +bx—ax—ab = x(x+b)—a(x+b)=(x—a)x+b)
] 14ab® —10d* +5a*h—7b = 2a(7b* - 5a° )~ b(7b* — 50° ) =
ST = (2a-b)7b* - 52°)
ax® —bx* +ax—cx* —bx —cx = ax’ —bx* —cx’ +ax —bx—cx =
ST 7/28 =x*(a—b-c)+x(a-b—c)=(x*+x\a-b-c)=
=x(x+1)a-b-c)
ST 7/29 9x* —1=(3x+1)3x-1)




stran/nal. |razstavljanje
ST 7/30 25a* —36b* = (5a +6b)5a - 6b)
8T 7/31 1252 —25% = (125 + 25125 — 25)=150.100 = 15000
ST 8/32 a’—0,49b* =(a+0,7b)a—0,7b)
ST 8/33 1-16y* = (1+4y> J1-4y?)=(1+4p> J1+2p)1-2y)
5 81m4—%n4=(9m2+1n2X9m —4n )
ST 8134 =(9m2+%nzx3m+in)(3m——n)
ST 8/35 5x°y* —20xy* =5xy (x —4y) Sxyp?(x+2y)x—2y)
ST 8/36 2ab’ -La’h= 2ab( =+ ) b+ a)(— —%a)
ST 8/37 (a+b)f —c*=(a+b+c)a+b-c)
2 —_
o (arbF (e af = (@sp)r e aarb)-(era)-
(a+b+c+d)a+rb—c—d)
(a+b—c)2—(a—b+c)2:
ST 8/39 =(@a+b—c+a-b+cla+b—c—a+b—c)=2a(2b—2c)=
:4a(b—c)
. a2+b2+2ab—02:a2+2ab+b2—cz=(a+b)2—cz=
ST 8/40
=(a+b+c)(a+b—c)
2.2 2 — 2 _ (2 _ 2) =2 _(v,— V=
ST 8/ 41 X =y -z +2yz=x (y 2yz+z) X (y z)
=(x+y—z)x—y+2)
) 25a* —(3a—2b) =(5a+3a—-2b)5a—3a+2b)=
ST 8/42
=(8a—2b)2a+2b)=4(4a—b)a+b)
9(x—2y) —16(2x-3y) =
ST 8/ 43 =[x -2y)+4(2x-3y)[3(x - 2y)- 4(2x - 3y)] =

=(3x—6y+8x—12y)3x—6y—8x+12y)=
=(11x-18y)-5x+6y)=(11x-18y )6y - 5x)




